
z PAGE 1 OF 5 
 

  
 

THE RUMBLE SEAT 
MODEL: UVRS100BL-300 LB. WEIGHT CAP. 

 
READ ALL INSTRUCTIONS AND THE ADDITIONAL LIST OF WARNINGS BEFORE USING THE RUMBLE SEAT 

NOTE:  Failure to read instructions before use could result in injury or death. 

Instructions for Installation and Use: 
               

  

     
                         FIG. 1 
 
         
 
 
 

  
                        

            PAGE 2 OF 4 

 
 
 
 
 
 

 
 
 
 

**NOTE**PLEASE REMOVE ALL 
PARTS FROM BOX AND CHECK THE 
PARTS AGAINST THE CONTENTS LIST 
BEFORE BEGINNING ASSEMBLY. 
ANY MISSING OR DAMAGED PARTS 
NEEDS TO BE REPORTED TO GREAT 
DAY, INC.  
     

     

     

     

    

 

 

CONTENTS: SEE FIG. 1 
1 – BACKREST FRAME WITH 2 CUSHIONS 
1 – SEAT FRAME WITH 2 CUSHIONS 
1 – SEATBELT STRAP W/ 2 MALE BUCKLES 
4 – 5/16” QUICK PINS 
2 – ARMRESTS 
1 – HARDWARE PACKET 

2 – LEG ASSEMBLIES W/ MOUNTING BRACKETS 
 

HARDWARE PACKET INCLUDES: 
4 – 5/16” X 2 1/2" BOLTS 
4 – 5/16” X 1” BOLTS 
4 – 5/16” FENDER WASHERS 
8 – 5/16” X 1 3/4" BOLTS 
2 – 5/16” X 2” BOLTS 
14 – 5/16” LOCKNUTS 
24 – 5/16” FLAT WASHERS 
2 – FEMALE SEAT BELT BUCKLES 
2 – SAFETY ATTACHING STRAPS W/THUMB 
RELEASE BUCKLES 
 



 
PAGE 2 OF 5 

 
 
 
 
 
 
 
 
 

 
 

             
   FIG. 2     FIG. 2A                              FIG. 2B 
 
       

                                    
                                 FIG. 3 FIG. 3A   

 

  
                  FIG. 4 

                                       
                        FIG. 5 

                                                                                        

STEP 1: SEE FIG. 2- 
ATTACH LEG ASSEMBLIES TO THE BOTTOM OF THE SEAT FRAME USING 4-5/16” x 1 
3/4” BOLTS, 8-FLAT WASHERS & 4-LOCK NUTS. **NOTE**THERE ARE 4 DIFFERENT 
LEG ASSEMBLY POSITIONS (2 ON SEAT FRAME & 2 ON LEG ASSEMBLIES) TO 
ENSURE PROPER LEVEL POSITIONING IN THE BED OF YOUR PARTICULAR UTV. SEE 
FIG. 2A & FIG. 2B.** 

STEP 3: SEE FIG. 4 
SECURE BACK FRAME TO SEAT 
FRAME USING 2-5 /16” x 2” 
BOLTS, WASHERS & LOCKNUTS. 
TIGHTEN SECURELY.  
 
 

STEP 2: SEE FIG. 3 & 3A     REMOVE 
FEMALE ENDS OF SEAT BELTS FROM 
PACKET & PLACE LOOP END 
AROUND EAR OF SEAT SECTION. 
THIS IS THE UPRIGHT WHERE THE 
SEAT SECTION & BACKREST 
SECTION ATTACH TOGETHER. 
REPEAT FOR SECOND FEMALE END 
OF SEAT BELT. TIGHTEN SECURELY.  

STEP 4: SEE FIG. 5 
ATTACH ARMRESTS TO SEAT 
FRAME AND BACKREST FRAME 
USING 4-5 /16” x 2 1/2” 
BOLTS, WASHERS & 
LOCKNUTS. TIGHTEN 
SECURELY.  
 



 
PAGE 3 OF 5 

 
       FIG. 6 

 
                                                                                            FIG. 7 

                   
                         FIG. 8 
 
 
            

 
     FIG. 9 
  
 
 

STEP 5: SEE FIG.6 
PLACE FULLY ASSEMBLED RUMBLE 
SEAT INTO THE CARGO AREA OF UTV 
WITH RUMBLE SEAT BACKREST 
AGAINST THE CAB OF UTV.  
**NOTE**THE RUMBLE SEAT IS 
INTENDED TO FACE THE REAR OF THE 
UTV WITH BACKREST AS CLOSE TO 
THE ROLL BARS AS POSSIBLE.    
 

STEP 6: SEE FIG. 7 
MARK LOCATION TO DRILL THE 
4 HOLES FOR ATTACHING THE 
MOUNTING BRACKETS TO THE 
BED OF THE UTV.  
 

STEP 8: SEE FIG. 9 
BOLT THE MOUNTING BRACKETS TO 
THE BED OF THE UTV USING 4 – 
5/16” X 1” OR 4 - 5/16” X 1 3/4" 
BOLTS, (WHICHEVER LENGTH IS 
APPROPRIATE FOR THE UTV) & 4 – 
5/16” FENDER WASHERS (ON THE 
UNDERSIDE OF CARGO BED), & 4 – 
5/16” LOCKNUTS. TIGHTEN 
SECURELY.  

STEP 7: SEE FIG. 8 
REMOVE RUMBLE SEAT & DRILL 
THE 4 MARKED LOCATIONS IN 
THE BED OF THE UTV USING A 
7/16” DRILL BIT. **NOTE**BE 
SURE YOU ARE NOT DRILLING 
INTO FUEL TANK OR FUEL LINES.  
 



       
PAGE 4 OF 5 

  
                             FIG. 10 

 
 

                           
                             FIG. 10A        FIG. 10B 

 
 
 
 
 
 
 

 
 

 
DO NOT USE THE RUMBLE SEAT WITHOUT SAFETY ATTACHING STRAPS IN PLACE. 

 
IT IS ABSOLUTELY IMPERATIVE THAT THE SAFETY ATTACHING STRAPS BE INSTALLED AS 

SHOWN IN STEP 9 TO PREVENT ACCIDENTAL OR UNINTENDED TILTING OF UTV BED! 

 
SAFETY BELTS MUST BE WORN AT ALL TIMES WHEN SEATED IN THE RUMBLE SEAT.  

 
TO THE OWNER/OPERATOR OF THE UTV: DO NOT ALLOW ANY PERSON TO SIT ON 
RUMBLE SEATS WITHOUT HAVING THE SEATBELTS CONNECTED AND SECURED! 

 
DO NOT EXCEED THE 300 LB. WEIGHT CAPACITY (TOTAL WEIGHT OF BOTH PASSENGERS) 

OF THE RUMBLE SEAT.  
 

For more information about this or other products, contact us at:  

Great Day, Inc. 
604 Kimbrough Dr. * Tallulah, LA 71282 * (866) 649-1918 * www.greatdayinc.com 

STEP 9: SEE FIG. 10 & FIG. 10A 
ATTACH THE RUMBLE SEAT TO UTV 
FRAME USING SAFETY ATTACHMENT 
STRAPS. PUT LOOP ENDS AROUND BACK 
OF RUMBLE SEAT FRAME AND UTV ARM 
REST/SEAT FRAME. SEE FIG. 10B - 
SECURE WITH QUICK RELEASE BUCKLE.  

**NOTE**THE RUMBLE SEAT MAY BE REMOVED FROM UTV BY 
REMOVING THE QUICK PINS THAT SECURE THE FRAME TO THE 
MOUNTING BRACKETS.  

http://www.greatdayinc.com/


         PAGE 5 OF 5 

WARNINGS 

 

WARNING:  Never mount the Rumble Seat facing    

          forward (toward the front of the vehicle).   

    Always place back rest against cab. 

 

WARNING:  Always wear seat belt while seated in the 

    Rumble Seat. 

 

WARNING: Never use the Rumble Seat without safety    

               attachment straps in place. 

 

WARNING:  Never mount the Rumble Seat near the    

                tail gate. Always mount the Rumble Seat      

                with the back rest against cab of UTV. 

 

WARNING:  Always check the bed tilting latch and be sure 

    it is locked or latched securely. 

 

WARNING:  Never unlock the bed tilting latch while some 

    one is seated in the Rumble Seat. 

 

WARNING:  Never allow more than 2 passengers to ride 

    on the Rumble Seat. 

 

WARNING:  Never exceed the 300 lb. weight capacity (total     

weight of both passengers) of the Rumble Seat. 

****************************************************** 

Proudly made in the USA by 

Great Day, Inc. 
604 Kimbrough Dr., Tallulah, LA  71284 

866-649-1918 


